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1. What is full form of CMOS ?
{A) Content Metal Oxide Semiconductor
(B) Complementary Metal Oxide Semiconductor
(C) Complementary Metal Oxygen Semiconductor
(1 Complementary Metal Oscillator Semiconductor

2. Pinus belongs to the class :
(A) Gentopsida B) Cycadopsida
(C) Coniferopsida (D} Sphenopsida

3.  Which of the following curves do not represent motion in one dimension 7
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4. Abendin alevel road has a radius of 100 m. Find the maximum speed which a car turning this
bend may have without skidding. IT the cocfficient of Friction between the tyres and the road is

0.8 :
(A) 2Bm/s (B) 40ms
(C) B0m's (D) 32ms
5.  What is the name of first super computer of India ?
(A) Sapal20 (B). PARAM 5000
(C) ENIAC (D) PARAM 6000

6. The material which can be deformed permanently by heat and pressure is called a:

(A) thermoplastic (B) thenmoset
(C) chemical compound (D) polymer

7. Alightand a heavy body have equal momentum. Which onc has greater Kinetic Energy 7
(A) The light body (B) Both have equal Kinetic Energy
(C) Theheavy body (D} Nocomelation is possible with given data
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8. Asolid cylinder and a hollow eylinder, both of the same mass and same external diameter are
released from the same height at the same time on an inclined planc. Both rolled down without
slipping. Which one will reach the bottom first 7
(A) Sohdcylinder (B) Bothtogether
(C) Onewith higher density (1) Haollow eylinder

9, Suppose the gravitational foree varies inversely as the n power of the distance. Then the time
period of a planet in circular orbit of radius R around the Sun will be proportional to :

() R* ® R
[E] Rm—ljl': I:_D} R;.-.+|_:| ]

10. Two particles of equal mass g0 round a circle of radius R under the action of their mutual
gravitational afira ction. The speed of each particle is :

{A) 1_ |'_1_ | IIT_R_
! IR VGM VGM
1 JaM [R

© IN® ® o

11. Which acid is present in lemon 7
(A) Eiymh!nﬂchcid (B) Cimicacid
(C) Lacticacid (D) Tartaric acid

12. Theterm PVC used in the plastic industry stands for :

(A) Pobyvinyl chioride (B) Polyvinyl carbonate
(C) Phosphor vanadium chloride (D} Phosphaviny! chlonde

13. The tensile strength of a carbon nanotube is times that of steel.
(A) 10 (B 25
(C) 100 (M) 10040

14, What among following is used to produce artificial rain ?

(AY Copper oxide (B) Carbon monoxide
(C) Silveriodide (D) Silver nitrate
M. Tech. (Nano Science and Nand Tech, VBGI-31130-A 4

+




15,

16,

7.

18.

19,
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21.

21,

The number of moles of solute present in 1 kg of a solvent is ealled its ;
{(A) Molality (B) Molarity
() Normality (DY Formality

Polien grains of a plant whose In = 28 are cultured to get callus by tissue culture method,
What would be the number of chromosomes in the cells of the callus ?

(A} 21 B) 14

(C) 56 (D) 28

The most electronegative clement among the following is :
(A) Sodium {B) Bromine
{C:I Hmrin: ':_-”} ij.-gm

The oldest rocks in the earth’s crust were once molien, and came from deep inside the earth.
The molten rock, called magma, that spewed out in voleanic eruptions during the earth's early
life and solidified into hard rock is called

(A) Granite (B) Baszh

{C) Igmeous rocks (D) Sedimentary rocks

Which of the following formulas related to motion is not correct ?
(A) vi-u'=2aS B) S=tat’+ul
(C) S=ut-%at (DY v=utat

In eoordinate geometry, the equation of the x-axis is :

(A) y=x (B) v=0
() x=0 D) y=1
Onenanometre= cm.

(A 10" (B) 1009
(C) 10(7) (@) o

The most commonly used bleaching agent is -
{(A) Alcohol (B) Carbondioxide
(C) Chlorine (0) Sodium chlorne
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The octane number of zero is assigned fo :

(A} 2-methyl octane (B) n-heptane

(C) iso-oetane (1) 3-methyl octane
Ix - 4{x+6)=

(A) x+5 (B} —x-24

(C) Tx+b D)y —Tx—24

Ifa computer provides database services to other, then it will be known as
{A) Webserver {B) Application server
(C) Database server (I} FIPscrver

An elevator weighing 500 kg is to lifted up at a constant velocity of 0.4 m/s, What should he
the minimum horse power of the motor to be used ?

(A) 1.62hp (B) 2.62h.p

(C) 621hp (D) 423hp

The Latin word formica means ant, The name formic acid is derived from this Latin word
because : .

(A} thisacid, in ancient times, was used to eliminate ant-hills

(B) this comrosive acid is secreted by ants to drive away their enemics

(C) thisacid was first obtained by the distillation of ants

(D} ants are attracted by the odour of this acid

What is LINUX ?
(A) Malware (B) Operating System
(C} Application Program {13} Firrnware

The inherited traits of an organism are controlled by :

{A) RNA molecules (B} Nucleotides

(C) DNAmolecules (D) Enzvmes

The oil used in the froth floatation process is :

{A) Coconut oil (B Oliveoil

{C) Kerosene oil (D} Pineoil

ltems bought by a trader for $80 are sold for $100. The profit expressed as a percentage of
cost price is ;

(A) 2.5% (B) 20%

(€) 25% (D) 50 %
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The size of a quantum dot is m. :
{A) 5 (B) 3= 10(™)
(C S52100™ (D) 5 = 10{")

Dicthi is at the distance of 200 km from Ambala. *A" sets out from Ambala at the speed of 30
km/h and “B" sets out at the same time from Delhi at a speed of 20 km / h. When will they
meet each other ?

(A) 4 hours (B) 10hours

{C) 6.40hours (D) 20hours

If the first term of an arithmetic progression is 6 and the 11 term ix 76. What is the 5" term ?
{A) 30 (B) 31

(c) 33 D) 34

. Which level language is Assembly Language ?

{A) high-level programming lanmisge
(B} medium-level programming language
(C)  low-level programming Languags

(B} maching languspe

The major constituent of airis :

(A) Nitrogen (B) Carbon dioxide

(C) Omxygen {0} Hywdrogen

The National Chemical Laboratory is situated in :

(A) NewDelhi (B) Bangalore

(C) Pune (D) Patna

Full form of URL is :

(A} Uniform Resource Locator (B} Uniform Resource Link
(C) Uniform Registered Link {0} Umified Resource Link
Movement of tongue musele is controlled by :

(A)  facial nerve : (B) trigeminal nerve

(C) hypoglossal nerve (D) vagusnerve

BT brinjal is an example of transgenic crops. In this, BT refers to :

(A) Bacillus tuberculosis {B) Biotechnology

(C) Betacaroteng (D) Bacillus thurmgiensis
Given that a and b are integers, which of the following is not necessarily an integer 7
(A} 2a—35hb (B) &’

(C) b (D) ab
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Siructural element of Chromatin is :
(A} Histone (B} Acid protetn and DNA

(C) NWuclearmatrix (D) MNucleosomes

Read the following statements A and B.

A: Many organs of aquatic plants float in water.

B: Large air gaps are present in the collenchyma tissues of lotus leaf.
Select the correct answer.

(A) StatementAlscormect and B is wrong

i) StatementB is correct and A 1S wrong

(C) Statcments A and B both are correct

(D) Statements A and B both are wrong

A large quantity of fluid is filtered every day by the nephrons in the kidneys. Only about 1 %% of
it is excreted as urine. The remaining 99 % of the filtrate :

(A) is lost as sweat (B} isstored in the urinary bladder
(C} isreabsorbed into the blood (D} getscollected in the renal pehis
Who wrote the famous book *Origin of Species’ ?

{A) Lamarck (B) Darwin

(C) DeVries (D) Mendel

More men suffer from colour blindness than women because :

(A) Women are more resistant to disease than men

() The male sex hormone |estosterone catses the disease

(C) The colour blind gene s carried on the "Y' chromosome

(D} Menare hemizygous and one defective gene is enough to make them colour blind

If the person shows the production of interferons in his body, chances are that he is suffering
from:

(A) Malania (B) Measles

(C) Tetanus (D) Anthrax
Inulin is a polymer of :

(A) Glucose (B) Galactose

(C) Fructosc () Arabinose
"There is a plenty of room at the bottom." This was stated by :

(A) Issac Newlon By Albert Einstein
(C) Richard Feynman (D} EricDrexler

%I, Tech, (Nano Sclence and Nano Tech. VBGI-31130-A i



50.

1.

5.

59,

The size of E.coli bacteria is nm.

{A) 75000 (B) 2000

(C) 200 D) 5

The most important property of nanomaterials is :

{A) Force (B) Friction

(C) Pressare (D) Temperature

The cut-off limit of human eve to see is nm.

(&) 10 (B) 100

(C) 1000 (D) 10000

Ribose sugar is present in :

{A) RNAonly (B} RNMNA polvmerase and ATP
(C) RNAand ATP (1)) RNApolymerase, RN Aand ATP

. The following are the half lives of four active isotopes. Which one of the following is the

most dangerous to handle 7
(A) 1 billion years (B) 10years
(C) (.1 minute (D) 15days

Which stage of malarial parasite is infective to man ?

{A) Gametocyte (B) Moerozoite
(C) Coyptomcrozoite (D) Sporozoite
Crut of following, the hardest material found in nature is

(A) Steel (B) Topaz
(C) Dimmond (D) Quartz

. A contractor completed five-ninths of a job before a second contractor completed an additional

nne-third. What fraction of the job is left undone 7

(A) one-ninth (B) four-ninths

(C) two-thirds (D)) eight-mnths

MNanotechnology, in other words, is best defined as :

(A) Carbonengineering (B) Atomicengineering

(C) Small technology () Microphysics

The ratio of thermal eonductivity of silver to that of a carbon nanotube is -
(A) 100:1 (B) 1:100

(C) 10:1 (1410
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60. Onenibble is equal to how many bits 7
(A) 4bits (B) 8bits
(C) 12bits (D) 16Mbts
61. If a computer has more than one processor then itis known as:
(A) Uniprocess (B) Multprocessor
(C) Muttithreaded (D) Multiprogramming
&2, Inwhich of the following form, data is stored in computer 7
(A) Decimal (B} Binary
(Cy HexaDecimal (D) Octal
3. Technology used to provide internet by transmitting data over wires of telephone network s :
(A) Trnsmitter (B) Diodes
(Cy HHL (D) DSL
64. What is full form of ALU?
(A) Anthmetic logzic umit (1) Albowed logic unil
(C) Asciilogic unt (D) Arithmetic leastunit
65. Who was the Founder of Bluetooth ?
{A) Encson (B) Martin Cooper
(C) SteveJobs (D) Apple
66. In banking, railways, etc. which computers arc used :
(A} Mini Computers (B} Micro Computers
(Cy Mmn Frames (D) Super Complters
&7. Name of the instrument (0 Measure atomspheric pressure
(A) Barometer (B) Barograph
(C) Bolometer (1) Callipers
68. Which instrument is used in subma rine to see the objects above sea level [
(A} Pykometer (B) Polygraph
{C) Photometer (I} Penscope
69. Alfred Nobel invented :
(A) Xray (B) Diesel Engine
(C) Dyvmamiie (D) Dynamo
M. Tech. (Nano Science and Nang Tech VBGT-31130-A 1
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Radincarbon is produced in the atmosphere as a result of :

(A) collision between fast neutrons and nitrogen nuclel present in the atmosphere

{B) action of ultraviclet light from the sunon atmuosphenc oxygen

(€ action of solar radiations particularly cosmic rays on carbon dioxide present in the atmosphere

(D) lightning discharye in atmosphere

71. The absorption of ink by blotting paper involves :
(A) Capillary action phenomenaon (B) WViscosity ofink
() Siphon action (T Diffasion of ink through the blotting
72. Light vearis a unitof:
(A) Time (B) Light
{C) Distance (D) Intensity of light
T1. If no external force acts on s system of bodies, the total linear momentum of the system of bodies
remains constant. Which law states this ?
(A) Newton first law (B) Newton second law
{C) Newton third taw (D)) Principle of conservation of linear momentum
74. The rotational effect of a force on a body about an axis of rotation is described in terms of :
(A) Centre of gravity (B) Centripetal force
(C) Centrifigal force (D} Moment of force
75. Whatare the values of x and y if 2x-3y=4 and 3y-8x-2=0 :
(A) x=landy=1 B) x=-landy=-1
(C) x=—landy=2 () x=1landy=-2
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